

MOLAR MASS CALCULATIONS
1. What is the molar mass of iron, Fe? How many moles of iron atoms are in 111.8 g of iron?
2. What is the molar mass of N2 (g)? How many moles of nitrogen gas are in 112.1 g?

3. What is the molar mass of KCl? How many moles of KCl are in 50.0 g?

4. How many moles are in 89.3 g of NaCl? 

5. What is the molar mass of carbon dioxide, CO2? How many grams of CO2 does 3.54 moles represent?


6. Determine the mass of each of the following amounts:

a. 1.366 mol of NH3
b. 0.120 mol of Ca(NO3)2
c. 6.94 mol of BaCl2
d. 0.005 mol of C3H8

7. Calculate the number of atoms in each of the following masses:

a. 0.0082 g gold       




b. 812 g molybdenum





c. 0.039 g of palladium

8. Calculate the mass of each of the following:

a. 8.22 x 1023 atoms of rubidium 



b. 9.96 x 1026 atoms of tellurium





c. 8.39 x 1023 molecules of F2



 
d. 6.31 x 1018 molecules of HNO3
Answer Key 
1. 55.85 g/mol 
2.002 mol Fe

2. 28.02 g/mol
4.001 mol N2
3. 74.55 g/mol
0.671 mol KCl 

4. 1.53 mol NaCl 

5. 44.01g/mol 
156 g CO2
6
a. 
23.28 g NH3

b. 
19.7 g Ca(NO3)2

c. 
1445 ≈ 1450 g BaCl2

d. 
0.2 g C3H8 

7. a. 2.5 x 10 19 atoms Au 


b. 5.10 x 1024 atoms Mo 


c. 2.2 x 1020 atoms Pd

9. a. 117 g Rb 


b. 211, 111 ≈ 211,000 g Te


c. 53.0 g F2

d. 0.00066 g HNO3 
